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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

[˝Á◊SLÓ ( Commerce ) 
ac˜ÁÃ^Eı YÁPˆy‘] ( Subsidiary ) 

T ˆTˆ›Ã^ Yy [ ( S-3 ) SBS-III : Business Ethics & 
Computer Applications ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG — Eı 

( [˝Ó[˝aÁ◊Ã^Eı X›◊Tˆ ) 

1* Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 20 × 1 = 20 

 (Eı) X›◊Tˆ◊[˝VÓÁ EıÁ„Eı [˝„_ ? X›◊Tˆ◊[˝VÓÁÃ[˝ Y“E ı◊Tˆ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* X›◊Tˆ◊[˝VÓÁ YÁ‰PˆÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 + 8 

 (F) X›◊Tˆ„Eı◊≥V–Eı [˝Ó[˝aÁ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

%ÁªJÙÃ[˝S◊[˝◊W˝ a+„EÔı ÂEıÁ+ÁX› Y◊Ã[˝ªJÙÁ_Eı„VÃ[˝ 

Y“„Ã^ÁLX›Ã^ =Y„V`m◊_ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
    10 + 10 

2* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 12 × 2 = 24 

(Eı) \ˆÁ„_Á %ÁªJÙÃ[˝„SÃ[˝ È[˝◊`rÙÓm◊_ a+„EÔı ◊_F«X* ÈX◊TˆEı 

◊[˝ªJÙÁ„Ã[˝Ã[˝ ÿëˆ›EıÁ^Ô aTˆÓm◊_ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 ı 6 + 6 

 (F) EıÁ]XÁ, c˜O¨K˜Á C aeEıî a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

B◊¨K˜Eı ◊y‘Ã^ÁÃ[˝ ◊[˝◊\ˆ~ ]ÁX◊aEı ÿôˆÃ[˝m◊_ =‰{F 

EıÃ[˝”X* 6 + 6 

 (G) EıÁ]XÁÃ[˝ ÿëˆÃ[˝÷Y ◊[˝‰`¿bS EıÃ[˝”X* =„ï`Ó C 

%◊\ˆY“Á„Ã^Ã[˝ YÁÃ[˝&◊Ã[˝Eı a+EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
   5 + 7 
 (H) Eı„YÔÁ„Ã[˝ªRÙO %ÁªJÙÃ[˝S◊[˝◊W˝Ã[˝ •≥• [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

%ÁªJÙÃ[˝S◊[˝◊W˝ C ÂEıÏT«ˆc˜„_Ã[˝ •≥• a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 4 + 8 

3* Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 6 × 1 = 6 

 (Eı) B◊¨K˜Eı ◊y‘Ã^Á ◊Eı ? %X«EıÃ[˝S`›_ ◊y‘Ã^Á ◊Eı ? 

[˝ÁW˝ÓTˆÁ]…_Eı EıÁL [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 2 + 2 + 2 

 (F) Eı]Ôaeï ı◊Tˆ =~◊TˆÃ[˝ ac˜ÁÃ^Eı ◊[˝bÃ^m◊_ a∂ëˆ„μ˘ W˝ÁÃ[˝SÁ 

◊VX* 6 
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◊[˝\ˆÁG — F 

(Eı◊+=ªRÙOÁÃ[˝ %ÓÁ◊Y¿„Eı`X)              

4* Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 20 × 1 = 20 

(Eı) Eı◊+=ªRÙOÁÃ[˝ [˝Ó[˝c˜Á„Ã[˝Ã[˝ a«◊[˝W˝Ám◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

A]. Aa. A„j_-AÃ[˝ ZıÃ[˝]ÁªRÙO Â]X« a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 12 + 8 

(Fı) Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ ^‹óˆÁe` a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ ◊[˝[˝Ã[˝S 

◊VX* 20 

5* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 12 × 2 = 24 

 (Eı) "Ã[˝ÓÁXQˆ] %ÓÁEı„aa Â]„]Á◊Ã[˝' C "◊Ã[˝Qˆ %X◊_ Â]„]Á◊Ã[˝' 

a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* Z¿ı◊Y ◊Qˆïı a∂ëˆ„μ˘ AEı◊ªRÙO 

ae◊l˘ä ªRÙO›EıÁ ◊_F«X* 4 + 4 + 4 

 (F) Eı◊+=ªRÙOÁÃ[˝ ÊY“ÁG–Á◊]e-AÃ[˝ Y^ÔÁÃ^m◊_ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ◊Y“≥RÙOÁ„Ã[˝Ã[˝ Y“EıÁÃ[˝„\ˆVm◊_ ◊Eı ◊Eı ? 9 + 3 

 (G) QˆªRÙO ]ÓÁ◊ÆœÙj ◊Y“≥RÙOÁÃ[˝ C Â_LÁÃ[˝ ÂLªRÙO ◊Y“≥RÙOÁ„Ã[˝Ã[˝ ]„W˝Ó 

YÁUÔEıÓm◊_ ◊Eı ◊Eı ? c˜ÁQÔˆ ◊Qˆïı C Z¿ı◊Y ◊Qˆ„ïıÃ[˝ ]„W˝Ó 

YÁUÔEıÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

 (H) =c˜OX„QˆÁa-AÃ[˝ ◊[˝◊\ˆ~ %e`m◊_ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 12 

6* Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX : 6 × 1 = 6 

 (Eı) Eı‰≥ÆœÙÁ_ YÓÁ„X_ ◊Eı ? ïıÓÁXÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
   3 + 3 

 (F) ]Á=a [˝Ó[˝c˜ÁÃ[˝ XÁ Eı„Ã[˝ EıÁªªRÙO, Eı◊Y C ÂY∫RÙO ◊Eı\ˆÁ„[˝ 

EıÃ[˝Á c˜Ã^ ? 6 

 (G) =c˜OX„QˆÁL %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO]-AÃ[˝ ]ÁW˝Ó„] XT«ˆX 

ÂZıÁ∑QˆÁÃ[˝ GPˆX, ZıÁc˜O„_Ã[˝ %YaÁÃ[˝S C Z¿ı◊Y„Tˆ ZıÁc˜O_ 

Eı◊Y aey‘Á‹ôˆ W˝ÁYm◊_ =‰{F EıÃ[˝”X* 2 + 2 + 2 
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English Version 
 

Group – A 

 ( Business Ethics ) 
1. Answer any one question : 20 × 1 = 20 

 a) What is Ethics ? Discuss the nature of 

Ethics. Discuss the uses of the study of 

Ethics. 4 + 8 + 8 

 b) Discuss the concept of ethical business. 

Discuss about the necessary advice to the 

corporate manager relating to the code of 

conduct. 10 + 10 

2. Answer any two questions : 12 × 2 = 24 

a) State the features of good conduct. Discuss 

the postulates of moral judgement. 6 + 6 

 b) Discuss about the desire, wish and will. 

State the different mental stages of 

voluntary action. 6 + 6 

 c) Analyse the nature of desire. State the 

relation between motive and intention. 

   5 + 7 

 d) What do you mean by conflict of corporate 

code of conduct ? Discuss the relationship 

between code of conduct and conflict of 

curiosity. 4 + 8  

3. Answer any one question : 6 × 1 = 6 

 a) What is voluntary action ? What is imitative 

action ? What do you mean by compulsive 

action ? 2 + 2 + 2 

 b) State the favourable conditions (issues) 

required for the development of work 

culture. 6 

Group – B 

( Computer Applications ) 

4. Answer any one question : 20 × 1 = 20 

 a) Discuss the advantages of using computer. 

State in detail, the Format Menu in MS 

Excel programme. 12 + 8 

 b) Discuss, in detail, the various machineries 

of computer. 20 

5. Answer any two questions : 12 × 2 = 24 

 a) Discuss about 'Random Access Memory' 

and 'Read only Memory'. Write a short note 

on Floppy disk. 4 + 4 + 4 

 b) Discuss the steps in computer 

programming. Mention different types of 

printers. 9 + 3 
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 c) State the differences between dot matrix 

printer and laser jet printer. State the 

differences between Hard disk and Floppy 

disk. 6 + 6 

 d) Discuss about the various parts of 

Windows.  12  

6. Answer any one question : 6 × 1 = 6 

 a) What is control panel ? What do you mean 

by scanner ? 3 + 3 

 b) How do you cut, copy and paste without 

using mouse ? 6 

 c) State the steps to be taken in Windows 

operating system to create a folder, to 

delete a file and to copy a file to a floppy. 

   2 + 2 + 2 

    


